v % h@ @ %; Esponenti negativi di 10

Nome: Data:
1x 100D = 1 %103 =
160,9 + 107 = 6x 1004 =
1077 = 1002 =
9x10° = 100D =
—2x10= 104 =
8x10° = % 1008 =
1079 = 688,2 x 10079 =
415,4+ 1000 = 1009 =
1072 = 327,6+ 1072 =
327,4+100% = 100D =
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Punteggio:


https://www.snowmath.com

vEREE

Esponenti negativi di 10

Nome:

1x 107" =0.1

160, 9 + 107 = 1609000
107 = 0.001

9 x 10% = 900

2% 10=-20

8 x 10% = 800

107 = 0.0001

415,4+ 107D =4154
1072 = 0.01

327, 4+ 1002 = 32740

Data:

~1 %107 = -0.001

6 x 107% = 0.0006
1072 = 0.01

1079 = 0.1

107 = 0.0001

—2 x 107 = —0.0002
688,2 x 107 = 0.06882
107 = 0.0001

327,6+ 1002 = 32760

1000 =0.1
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Punteggio:
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